Topic: Philippine Coins

Objectives:

a.
b.
c.

To identify/recognize the different Philippine coins (in circulation)
To give the value of each coin
To read and write the value of each coin

Prerequisite Concepts and Skills:

a.
b.

Intuitive concept of money c. Concept of numbers
Intuitive knowledge of Philippine coins d. Reading and writing numbers

Materials:

Real coins eDrawings or pictures of coins eToy coins

Instructional Procedures:

A.

Introducing the Task

Show the pupils real Philippine coins. Let them identify the different coins.
Ask them when they use these coins. (We use coins when we pay or buy
something, when we give change, when we pay our fare.)

Ask: Which of these coins do you often use? (Pupils may give various
answers except for the 1-centavo, 5-centavo, and 10-centavo coins which are
not used very often.). What are the things that you buy with your 25-centavo
coin? 1-peso coin? 5-peso coin? and 10-peso coin? (It is expected that pupils
give different answers depending on their exposures and experiences in their
locality.)

Performing the Task

Have the pupils bring out their coins. (The day before, they must be
instructed to bring to class the different coins in circulation.) Individually, let
them observe the appearance of each coin. It is possible that not all pupils
bring the complete set of coins in circulation. Just let them observe the coins
they have. After sometime, group the pupils. Let them put together all their
coins. Make sure that each group has a complete set of coins. Make the
pupils discuss among themselves what they have observed.

In consolidating their observations, let the pupils focus on the shape, color,
size, appearance and what can be seen on the faces of the coins.

Discussing the Observations

Ask the pupils to give their observations.
Possible observations:
All the coins are circular in shape but they have different sizes.
1. The 10-piso coin has two colors.
e The 5-sentimo coin has a hole in the center.
e The smallest coin is the 5-sentimo while the 10 piso and the 5 piso
have the same size.
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e Some coins have prints of faces on one of its faces while others do
not have.

e All coins have 1993 and Bangko Sentral ng Pilipinas on one face and
Republika ng Pilipinas and a number on the other face.

Presented above are some possible observations that pupils may give.
They may not be able to read the numbers (year) appearing on the
coins. Tell them how to read the numbers. Instead of saying “faces”,
pupils may say “side.” Accept the word “side” but correct them by saying
“faces.” However, in the language of the Bangko Sentral ng Pilipinas,
the faces are called “obverse” and “reverse”.

Given above are general observations. Let the groups describe what they see
on the faces of each coin. Call on one group to describe the 5-sentimo. Then
ask other groups to add if they have observed other things that were not yet
given. Do the same for the other coins. Make a summary table of the
observations on the board.

Prints
Coin Shape | Color Front Face (Obverse) Back Face
(Reverse)
10 piso Round | Gray Face of Andres Logo of Bangko
Pale Bonifacio and Sentral ng Pilipinas
yellow | Apolinario Mabini and | and the year 1993.
year made
5 piso Round | Pale Face of Emilio Logo of Bangko
yellow | Aguinaldo and year Sentral ng Pilipinas
made and the year 1993.
1 piso Round | Gray Face of Jose Rizal Logo of Bangko
and year made Sentral ng Pilipinas
and the year 1993.
25 Round | Yellow | “25 sentimo” and year | Logo of Bangko
sentimo made Sentral ng Pilipinas
and the year 1993.
10 Round | Copper | “10 sentimo” and year | Logo of Bangko
sentimo red made Sentral ng Pilipinas
and the year 1993.
5 Round | Copper | “5 sentimo” and year Only the words
sentimo red made “Bangko Sentral ng
Pilipinas and the
year 1993 printed
along the border.
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realize the features of each coin.

Tagalog word for centavo.

Help the pupils name these colors because they may not be familiar
with them. Also, ask leading questions like, “Do you see faces of people
on the face of the coin? Who are these people?” to make the pupils

The 1-centavo coin or the 1 sentimo, although still considered as one of
the denominations of Philippine coins, is seldom seen or used.
Tell pupils that piso is the Tagalog word for peso while sentimo is the

2. Let the pupils answer Worksheet 1. Then discuss the answers.

Show the pupils the different coins and let them

identify each one.

- @
Focus on the 10-piso coin. Post a drawing, picture .
or replica of the coin on the board. Show the pupils
the coin and tell them that the value of the coin is 10 |, @
pesos. Write R 10.00 on the board beside the
drawing of the coin. Tell the pupils that the “R “is |. @
the symbol for peso. Let the pupils read the amount. .

Do the same for the 5-piso and 1-piso coins.
Focus on the 25-sentimo coin. Show the pupils a

drawing, picture or replica of the coin. Tell them that the value of the coin is 25
sentimo or 25 centavos. Write 25c on the board beside the drawing of the coin.

coin that matches the front face.

FrontFace BackFace

1 R
2 b.
d.

5.

)

-]
@
g

Worksheet 1: Tell the letter of the back face of each

Tell them that the “ ¢ is the symbol for centavos. Let the pupils read amount.

Do the same for the 10-sentimo and 5-sentimo coins.

D. Reinforcing the concepts and skills

Ask the pupils to bring out their show me board. Tell the pupils to write the
value of the coin that you will show them. When showing the coin, at times

show the front face and at other times show the back face.
Have the pupils answer Worksheets 2 and 3. Then discuss the answers.

Worksheet 2: Give the correct value of each coln.

1. 9 10 ¢ ® 1000
2. . 10¢ £ 1.00
3. 5 ¢ P 5.00
+. O 5 ¢ * 5.00

5. . 25¢ P 5.00
é. . 10¢ + 1000

Worksheet 3: Write the correct value of each coinin
symbaolinyour notebook.

1.

L1

O
&
&
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E. SummarlZIng the Lesson Home Activity: Kim wants fo give the exact amount

foreach object. Tell the coin that he has to use.

Describe the coins and let the pupils name them. O~ °.e &
Ask the pupils their value and how it is written. Pl0 10¢ P5 P 25¢

Emphasize that the symbol for centavos is ¢ .
while  for pesos.

F. Applying to New and Other Situations

Assign the Home Activity as home work.

>

Topic: Philippine Paper Bills

Objectives of the Lesson:
a. To identify/recognize Philippine paper bills (P20.00, P50.00, and P100.00)
b. To give the value of each Philippine paper bill
c. Toread and write the value of each Philippine paper bill

Prerequisite Concepts and Skills:
a. Intuitive concept of money c. Concept of numbers
b. Intuitive knowledge of Philippine paper bills d. Reading and writing humbers

Materials:
e Real Philippine paper bills ePlay money eDrawings or pictures of Philippine
paper bills

Instructional Procedures:
A. Introducing the Task

Show the pupils the following real Philippine paper bills which are also called
peso bills: 20-peso bill, 50-peso bill, and 100-peso bill. (Note that the Bangko
Sentral ng Pilipinas call them bank notes and not paper bills.) Let them
identify the different paper bills. Ask them when they use these paper bills.
(We use paper bills when we pay or buy something, when we give change,
etc.)

Ask: Which of these paper bills do you often use? (Pupils may give various
answers.)

What are the things that you buy with your 20-peso bill? 50-peso bill? 100-
peso hill? (It is expected that pupils give different answers depending on their
exposures and experiences in their locality.)

B. Performing the Task

Tell the pupils to bring out their play money. (These should be a replica of the
new set of Philippine paper bills.) Individually, let them observe the
appearance of each paper bill. After sometime, group the pupils. Let them put
together all their paper bills. Make sure that each group has a complete set of

60



paper bills. Make the pupils discuss among themselves what they have
observed.

In consolidating their observations, let the pupils focus on the shape, color,
size, appearance, and what can be seen on the faces of the bills.

C. Discussing the Observations
Ask the pupils to give their observations. Possible observations:
All the paper bills are rectangular in shape.
All of them have the same size.
The dalawampung-piso bill has more than one color.
All paper bills have a print of a face of a person on one face and a place
on the other face.
v All paper bills have Republika ng Pilipinas.

AN NN

Presented above are some possible observations that pupils may give. Tell
them how to read the numbers. Instead of saying “faces”, pupils may say “side.”
Accept the word “side.” However, in the language of the Bangko Sentral ng
Pilipinas, these are called “obverse” and “reverse”.

Given above are general observations. Let the groups describe what they see
on the faces of each paper bill. Call on one group to describe the
dalawampung — piso bill. Then ask other groups to add if they have observed
other things that were not yet given. Do the same for the other paper bills.
Make a summary table of the observations on the board.

Prints
Paper bill Shape Color Front Face Back Face
(Obverse) (Reverse)
Face Banaue Rice
Dalawampung | Rectangular Orange Manuel L. Terraces and
piso (20) Quezon Palm Civet
animal
Limampung Rectangular Pink Face of Taal Lake and
piso(50) Sergio Maliputo fish
Osmena
Sandaang Rectangular Violet Face of Mayon Volcano
piso (100) Manuel and Whale shark
Roxas

Help the pupils name these colors because they may not be familiar with them.
Also, ask leading questions like, “Do you see faces of people on the face of the
paper bill? Who are these people?” to make the pupils realize the features of
each paper bill.
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Let the pupils answer Worksheet 1. Then discuss the answers.

Show the pupils the different paper bills and let them identify each one.

FOCUS on the dalawampung-plso bl” POSt a Worksheet 1: Write the correct value of paper bill on
drawing, picture, or replica of the paper bill on | voureaper.

the board. Show the pupils the paper bill and
tell them that the value of the bill is 20 pesos.
Write P 20.00 on the board besides the
drawing of the paper bill. Tell the pupils that
the “P “ is the symbol for peso. Let the pupils
read the amount.

Choose from the following:
a. P5000 b. 10000 ¢ P2000

Do the same for the limampung - piso bill and
sandaang - piso bills.

D. Reinforcing the Concepts and Skills

Ask the pupils to bring out their show me
board. Tell them to write the value of the
paper bill that you will show them. When
showing the bill, at times show the front face and at other times show the
back face.

Have the pupils answer Worksheets 2 and3. Then discuss the answers.

Worksheet 2: Write the value of each paper bill in Worksheet 3: Clark wants to go shopping with his
your notebook. g
mother. Choose the paper bill to show how much
money he needs.
m 3 m
1. 1. : ; ) L =
$20.00
+ 50.00 + 20.00 + 100.00
$100.00
+ 50.00 + 100.00 + 20.00
3. €TF >
$50.00
P 20.00 + 100.00 + 50.00

E. Summarizing the Lesson

Describe the paper bills and let the pupils name them. Ask the pupils their
values and how they are written.

Emphasize that the symbol for pesos is £.
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F. Applying to new and other situations

Home Activity: Choose the letter of the correct
paper bill to buy each item.

Lol =

100.00

Assign the Home Activity as home work.

Topic: Ordinal Numbers 1%, 2", 3" up to 10™

Objectives: Z,Q A

To read and write the ordinal numbers 1%, 2™ 3 up
to 10"

Prerequisite Concepts and Skills:
a. Intuitive concept of order b. Counting

Materials:
e Pictures

Instructional Procedures:
A. Posing the Task

Say: The Grade 1 — Mabini class has a program. Ten children will wear their
favourite costume for the program. They will stand up in front of the class one
by one.

Say: The first who stands up is Mary. Then post the picture of Mary with her
name below and under it write 1%, Say “first” and let the pupils say it with you
as you point to “15.”

Say: The second who stands up is Marlon. Then post the picture of Marlon
with his name below and under it write 2". Say “second” and let the pupils
say it with you as you point to “2".”

Repeat the process for the third, fourth, fifth, sixth, seventh, eighth, ninth, and
tenth child. Refer to the illustrations below.

Ask: Whose costume do you like most?

Why
Do you also have a favourite costume?
Describe it.
Mary Marlon Josie
B. Performing the Task and Processing i seons it
Answers N o)
&'\ .f\.‘k(' %
Ask: What do you observe about what are .f g‘ng Ef
written below the names of the children? =+ "= EleTy 3

10m
tenth

(They start with numbers and the numbers ¢ o en
are increasing by 1 from 1 to 10.) e seh

Point to the numbers 1%, 2™ 3™ 4" 5" 6™ 7" 8" 9™ and 10™. Say: These
are also numbers. They tell the order of objects or persons that are arranged.
Numbers that tell the order of objects or persons are called ordinal numbers.
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Ask:

Who is the first child to stand up? (Mary is the 1* child to stand up.)
Who is the seventh child stand up? (Jona is the 7" child to stand up.)
Who is the fifth child to stand up? (Bea is the 5" child to stand up.)
Who is the tenth child to stand up? (Jane is the 10" child to stand up.)
Who is the third child to stand up? (Josie is the 3" child to stand up.)
Who is the eighth child to stand up? (Nely is the 8" child to stand up.)
Who is the second child to stand up? (Marlon is the 2™ child to stand up.)
Who is the sixth child to stand up? (Jun is the 6™ child to stand up.)
Who is fourth child to stand up? (Jose is the 4™ child to stand up.)
Who is the ninth child to stand up? (Pat is the 9" child to stand up.)

Below the ordinal numbers shown in the 9]
illustrations on the board, write the Eﬁ @J
. . . N
corresponding words. See illustration below. ;ﬁ uj 0

Read each ordinal number in symboland in ;.20 >
word and ask the pupils to repeat after you. N -

5 \Wa @b

C. Reinforcing the Concepts and Skills .f s’?ia’] Ez’

Jun Jona Nely

Ask the pupils to do Worksheets 1, 2, and 3. & 7 &
Then dISCUSS the answers. sixth seventh  eighth ninth tenth

e eranarTaa ook cou g | | Wie eoch rumbe o fimes nvosmotebook. ;:{{@:5::&2&23&%2Eﬁ&tﬁ&i;';i’&;‘;?ﬁu‘%ﬁém‘”
wordsin Column 8. Use lines
Column A Column B 19 i ! gg\,ﬁg:"uz,:?mmhe JE— 1om ‘,\\
12 ninth 2. anv;h\chlcver\srhe - gin -..__-.
2nd fourth , - 3. S&m:g@lavarisfhs - g f\,g
3re second «ﬁ)(;:g:z;:’z:ﬁ:‘egrrsrhe - 7th /
4ih fifth 5. OI'WH?‘CH layer is the 4m
s ¥ é Unwh.\chlcycv is the Lo
4n sighth pencl? L
7. Onwhich layer Is the an \
™ fenn an 8 ';’US”:‘ hlayer Is fh o \
8ih first ‘spoonﬁ v R e Q
o third ” Sguvpvgl%hlcyer\s?he . 2na :‘
5m TTTTnTmrsrsmsrsssosesissossienenes 10. Onwhich layer is -
100 sevenih the cellphone? 12 \
Topic: Identifying the Order of Objects
Objectives:
a. To identify the 1%, 2", 3™ up to 10" object in a given set from a given point of
reference
b. To determine the position of an object using 1% to 10™ from a given point of
reference
Prerequisite Concepts and Skills:
a. Concept of ordinal numbers b. Reading and writing ordinal numbers
Materials:
e Real objects e cut-outs epictures ecrayons
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Instructional Procedures:

A.

Introducing the Task

Ask the pupils what animals they have seen and where they had seen them.
Then say: “Jason and his family went to the zoo. He saw different kinds of
animals there. “

(Before the class starts, post the pictures of the following animals.)
Performing the Task

Ask: Do you recognize the
animals?

Then tell the pupils to write on their
show me board the names of the
animals whose order from the left
you would point to.

5" from the left (The 5™ animal from the left is the lion.)

9™ from the left (The 9™ animal from the left is the carabao.)
1 from the left (The 1* animal from the left is the dog.)

6™ from the left (The 6™ animal from the left is the monkey.)
3" from the left (The 3™ animal from the left is the elephant.)
10™ from the left (The 10" animal from the left is the pig.)

4™ from the left (The 4™ animal from the left is the hen.)

7" from the left (The 7™ animal from the left is the zebra.)
2" from the left (The 2" animal from the left is the horse.)
8™ from the left (The 8™ animal from the left is the tiger.)

. Processing of Answers

Ask: How did you get your answers? (I counted starting from the left. For
example, to tell the 5" animal from the left, | counted 1,2,3,4, and 5 from the
left. The animal is the lion.)

Ask: What do you call these numbers that tell the position of an object or
person in a given set? (These are called ordinal numbers.)

RelnforCIng the Concept and Skllls Worksheet 1: Lookat the word “Mathematics”.

Write your answer to the following quesfions on your
paper.

Ask the pupils to do Worksheet 1. Then
discuss the answers.

MATHEMATI CS

Whatis the first letter?

Summarizing the Lesson Whatls the fourth letier?
. i Whatis the tenth letter?
Make the pupils tell the ordinal numbers Whats the seventh letiers
from 1% to 10"and to write these in symbols A
on their show me board. Whatis the second letter?
. i i Whatis the ninth letter?
Applying to New and Other Situations Whatls the third letter? -
Whatls the sixih letter2
Ask the pupils to do Worksheets 2 and 3. Whatletiers are fhe seme?

What are their orders?

Then discuss the answers.

Give the Home Activity to the pupils as an assignment.
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Worksheet 2: Draw then color the objects. Start from
the left in ordering.

e/

. Colorthe 1¢ object yellow.

. Colorthe 4t object red.

. Colorthe 8" object green

. Colorthe 10t object blue

. Colorthe 5t object pink.

. Colorthe 9t object violet.

. Colorthe 2~object orange.
. Colorthe 7t object brown.

. Colorthe 3< object blue violet.

— 0 B N O B W N —

0. Colorthe &t object yellow green.

Worksheet 3: Starting from the left, write the ordinal
number in symbol of each fruit and vegetable in the
set onyour paper.

doeN\kesFOL
1 Qj} 6

Home Activity: Look af the pictures. Do whatis asked
onyour paper. Begin at the right

9@:%@1? X

Encircle the 6 object.
. Draw the 10'h object big.
. Boxthe 3« object.
. Draw aline under the 7t object.
Cross outthe 1+ object.
. Draw threelines on the & object.
. Cross outthe 4% object.
Puta check on the %t object.

. Boxandring the 2 object.

— 0 N o O bW N —

0. Encircle the 5* object fwice.

Topic: Addition as Putting Together and as Joining Sets and Subtraction as

Taking Away

Objectives:

a. To illustrate addition as putting together and as joining sets

b. To illustrate subtraction as taking away objects from a set

b. To represent a story problem by a drawing or by a number sentence
c. To determine the missing number in addition or subtraction sentences

Prerequisite Concept and Skills:

a. Whole numbers

Materials:
emarbles

Instructional Procedures:

A. Posing Problem 1

e picture cards

b. Counting

ecut outs of different objects

Post the problem below on the board. Read the problem aloud while the

pupils read silently.

Problem 1

Ronald had 5 marbles. His brother gave him 2 more marbles. How
many marbles did he have in all?

Ask:

a. Who are the children in the problem? [The children in the story are Ronald

and his brother.]

b. How many marbles did Ronald have at first? [Ronald had 5 marbles at first.]
c. What did his brother do? [His brother gave him 2 more marbles.]
d. What does the problem ask? [The problem asks for the number of marbles

Ronald had in all.]
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B. Solving the Problem in Different Ways
Tell: Now solve the problem in different ways.
Solution 1: Act It Out

Call on 2 pupils to act out the problem.

One will play the role of Ronald and the other will play the role of the brother.]
Provide them real marbles that they can use to represent the problem.

The total number of marbles Ronald had in all can be found by counting the
number of marbles after his brother gave him two marbles.

Solution 2: Using Drawings
_ ..0 @ ... @
So Ronald, had 7 marbles all in all. o0 ® 'YX
C. Processing the Answers/Solutions. 5 2 7

Tell: Let us discuss your solutions.

Ask: In Solution 1, what did you do to find the number of marbles Ronald had
in all?

[We counted the number of marbles after Ronald received the 2 marbles from
his brother.]

Ask: In Solution 2, what did you do to find the number of marbles Ronald had
in all?

[We made drawings of 5 marbles together and 2 marbles together. We then
made another drawing where the 5 marbles and the 2 marbles are together
and counted them.]

Focus on the idea that the process involved when things or objects are put
together is addition.

Tell: Let us consider the drawing in Solution 2. We can enclose each drawing
by a rectangle and name the drawing with 5 marbles as Set A, the drawing
with 2 marbles as Set B, and the drawing with 7 marbles as Set C.

Ask: When we join the two sets of
marbles, Sets A and B how many ... ® ... L]
marbles do we have in the new set, o @ 'Y X )
Set C? [There are 7 marbles in the
new set.]

Seth SetB SetC

Focus on the idea that the process of joining two or more sets to form a
new set is also addition.

.T(.alll: We can denot(?‘ the”idea (zf ... o ... ®
joining by the word “and” and “to PN and is o0 e
form” by is.  So, we have ®

We can also represent the number SetA SetB Setc

of marbles in each set by 5, 2 and 7 respectively and replace the word “and”
by +, and “is” by =. So, we have
5 + 2 =7
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Focus on these ideas: The addition process is denoted by the symbol +
(read as plus), 5 and 2 are addends, and 7 is the sum; 5+ 2 = 7 is an
example of a number sentence. It is called an addition sentence. “ = “is
the symbol that indicates that the value of one side of the number
sentence is equal to the value of the other side.

5 + 2 = 7

!

addend addend sum

Addends are the numbers to be added. Sum is the answer in addition.

D. Reinforcing the Concept and Skill

Let the pupils do Worksheet 1. Then discuss the answers.

Posing Problem 2 aprinrunifh s g
sentence for each.
Post the problem below on the board. . There are 8 red baloons and 4 green balloors,
Read the problem aloud while the pupils YYYYYYY BGnG
o PHp 99900009 2909
read them silently.
Number Sentence: D_D = 3
Problem 2 e e et 0
Suppose Ronald who now had 7 marbles R YT Y AAYS
gave 3 marbles to his cousin. How many
mal’h|es WEI’P, Ieft tO R0n3|d7 NumberSenfence:[:]_Dzj
3. Anna has 5 candies and Maria has 4 candies.
ASk How many candies are there in all?

a. How many marbles did Ronald have? BRRRR BB aﬁ%
[Ronald had 7 marbles.] pumersentence L)L)

b. What did Ronald do to the 7 marbles?
[Ronald gave 3 marbles to his cousin.]

c. What does the problem ask? [The problem asks for the number of
marbles left to Ronald.]

F. Solving the Problem in Different Ways
Solution 1: Act it Out

Call on 2 pupils to act out the problem. One will play the role of Ronald and
the other will play the role of the cousin. Provide them marbles.

The number of marbles left to Ronald is found by counting after Ronald had

given the three marbles to his cousin.

Solution 2: Using Drawings
The number of marbles left to Ronald is found by
counting after crossing out the 3 marbles which

=5

represent the number of marbles Ronald gave to his cousin.

G. Processing the Solutions and Answer

Ask: In both Solutions 1 and 2, what did you do to find the number of marbles
left to Ronald? [We counted the marbles after three marbles were given
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away.]. Tell: Let us consider your drawing and name the set with seven
marbles as the first set.

How many marbles were there in the first set? [There were 7 marbles in the
first set.]. How many marbles were given away? [Three marbles were given
away]. How did you show in the set that two marbles were given away? [We
crossed out 3 marbles to show that they were taken away from the set].

a number sentence. We can taking objects away from a set is

represent the number of marbles | Subtraction. The figure below
in the first set by 7, the number of | illustrates the process.

marbles taken away as 3, and @

replace the phrase “take away” Se ‘:

by - and the word “is” by =. So,

we have 7 take away 3 is 4
7-3=4

What number did you take away from 7? [We took away 3.]
What is the answer when you take away 3 from 7? [The answer is 4.]

Focus on these ideas: The subtraction process is denoted by the symbol —
(read as minus) to mean “take away;” 7 is the minuend, 3 is the subtrahend
and 4 is the difference. Taking away is one meaning of subtraction.

7 - 3=4 is an example of a number sentence. It is called a subtraction sentence.
The = symbol indicates that the value of one side of the number sentence is
equal to the value on the other side.

7 - 3 = 4
minuend subtrahend difference

Minuend is the number where we subtract from. Subtrahend is the number
that we subtract. Difference is the answer in subtraction.

H. Reinforcing the Concept and Skill

Let the pupils do Worksheets 2, 3, 4, and 5. Then discuss the answers.

Worksheet 2: Read each problem. Represent it using Worksheet 3: Choose the corect number sentence. 4. How many children are there in all?
adrawing or a diagram. Then, write the number
sentence for each. 1. How many elephants are there in all? 3 +49 =5
1. There are 10 children in a group. If 6 of them leff, 5 _ 4+ 92 =4
how many remained? bl 9! 4 -3 =1
T e 0 6 e 8 2 05 0 o2 2+3 =5 4-2=2
O I T A A ] @@
< » H 3+ 4 =7
Number Sentence — - 2. How many birds were left2
2. Lea drinks & glasses of water for the whole day. If _
she drinks 2 glasses of water in the mormning, how Db B b 6 3=3 4 +2 =24
many glasses of water will she drink for the rest of \(Sk\ﬁ\(.ﬁk‘f’\(.’ 9 -3 =4
the day? SbrSeritrfie 4 2=2
SRR L EgvidvigVy srI3= mrbhnebuabunkes £ -2 =4
s 8 % 88 98 o8 &
Number Sentence: D _D - D 3. How many balloons are there when added

together?

w

. There are 10 birds in a cage. Five flew away.
How many birdswere left in the cage? 7o+ 4 =11

T —— el ek e ek
Vil V(U (s V(g ) ) )i )i e )i
N7 Y 7 A W W ek it ek

Number Sentence: D _ D = D
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Worksheet 4: Choose the letter of the correct answer.

1. Mother bought 13 ripe mangoes. If she shared 8
to her daughters, how many mangoes were
lefte

® ©

_—
2. There are 6 green fish and 5 red fish
How many fish are there altogsetherg

[6+5:H][6-6:I ][6+8:14]

® ©

\ Y yye
p—
3. Karen has 3 pencils in her bag. She put 7 more
pencils. How many pencils are there in the bag?

[7+5=|2][7—3=4]

[3+7=10]

® ©

R = =
4. Liza prepared 5 orange plates and 3 red plates.
How many plates did Liza prepare in allz

[5+3=8]

EXEEI

s-3=2]

® ©
000

e e, e, e, A, e e e,

R N R T

5. There are 14 tomatoes. If 9 of these are not ripe,

how many areripe?

2 o Wt Yo Ao

[9+5=|4][14—9=5][9—5=4]

® ©

I.  Summarizing the Lesson

Ask the pupils to do the following:
Give a number sentence involving addition
and identify which are the addends and

which is the sum.

Give a number sentence involving
subtraction and identify which is the
minuend, subtrahend, and difference.

Worksheet 5: Write the number sentence foreach on
your paper. Write the numberin the square and plus
(+) orminus (-] sign in the circle.

1. There are 5 girls and 4 boysin a group.
How many children are there in the group?

Do

2. There are 10 birds in a free. Fourbirds fly away.
How many birds are leftg

Dod-O

3. Six girls are playing while the 3 girls are studying.
How many girls are there alfogether?

Do

4. There are 10 fish in an aguarium. Gale adds 2
more fish.
How many fish are there in all2

O[]

5. There are 8 children in the group.If 2 go home
already, how many children remain?

JOM-1]

Remember:

Addition is the process of putting objects together. it is also a process of joining
two sets to form a new set. The process is indicated by the symbol + read as

plus.

Subtraction is a process of taking objects away from a set and is indicated by the

symbol - read as minus.

The numbers that we add are called addends. The answer in addition is called

sum.

In subtraction, the number that we take away from is called the minuend. The
number that we take away is called the subtrahend. The answer in subtraction

is called difference.
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J. Applying to New and Other Situations
Let the pupils do the Home Activity as an assignment.

Topic: Subtraction as Comparing and Adding Up

Objectives:

a. To illustrate subtraction as comparing
b. To illustrate subtraction as adding up
c. To apply subtraction as comparing and as adding up in solving problems

Prerequisite Concepts and Skills
a. Addition as putting together
b. Subtraction as taking away

Materials:
e Candies

Instructional Procedures:

epicture cards

Part I. Subtraction as Comparing

A. Posing the Problem

Show a picture of a mother giving candies to her 2

children.
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Post the following problem on the board. Ask the pupils to read the problem
silently and to solve it.

Problem 1: Mother gave 5 candies to Cora and 3 candies to Allan. How
many more candies does Cora have than Allan?

B. Solving the Problem

Pupils may act out the problem. The pupil taking the role of Allan compares
the number of candies he has with the number of candies the pupil taking the
role of Cora has. They will say that Cora has 2 more candies than Allan has.

C. Processing the Solution

Ask: How did you get your answer? [We compared by pairing the candies
Allan and Cora have. The number of candies that Cora has which cannot be
paired with the candies that Allan has is 2. So Cora has 2 more candies than
Allan.]

Solution 1: Subtraction as comparing

Show the drawing below to emphasize the 5 cookies
process described by the pupils. con—'@ @ f @ @
Cora has 2 candies which do not have a pair. So O é (I I 2cookies
Cora has 2 more candies than Allan has. %{_L/ ggi’jjo

3 pairings
Say: We also write the process as a subtraction
sentence: 5-3=2.

Focus on the idea that problems involving “How many more?” and “How
much more?” can be solved by comparing. Write the subtraction sentence
and find the difference.

Part Il. Subtraction as Adding up

COOKIES AND
A. Posing the Problem T
Show a picture of a girl buying a biscuit in a sari-sari
store.
Post the following problem on the board. Ask the pupils
to read the problem silently and to solve it.

Problem 2: Ana has five 1-peso coins. She wants to buy
a biscuit that costs 8 pesos. How much more money
does she need?

B. Solving the Problem 5 pairings

, f .+ 00000
Pupils may solve the problem by Anahastive Ipeso cors. S S T 1 1

Comparing_ Biscuit costs 8 pesos. +999000060
So, Ana needs 3 pesos more so that she e e
can buy the biscuit. pair

C. Processing the Solution
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Ask: How did you get your answer? (We paired the coins. The number of
1-peso coins for the cost of the biscuit which cannot be paired with the 1-
peso coins that Ana has is 3. So the money that Ana still needs to buy the
biscuit is 3 pesos.)

Say: The subtraction sentence for this is
8-5=3.

Another way to solve the problem is to think of the amount of money that
should be added to 5 pesos in order to get 8 pesos. That is, answer the
question “What should | add to 5 to get 87" We can write this as:

5+[]=8

If you add 1 to 5, you get 6; if you add 1 more you get 7; and if you still
add 1 more you get 8. So, you need to add 3 to 5 to get 8. So, Ana needs
3 pesos more so that she can buy the biscuit.

Focus on the idea that problems that can be solved by subtraction can
also be solved by addition where the difference is the missing addend.

8-5 = & difference
[5]+ 3 =8

missing addend

Problem 1 can also be solved by finding the missing addend. That is, answer
the question “What should | add to 3 to get 5?” This can be written as:

3+00=5

If you add 1 to 3, you get 4 and if you add 1 more you get 5. So, you need to
add 2 to 3 to get 5. So, Cora has 2 more candies than Allan has.

. Reinforcing the Skill

Let the pupils do the Worksheet. Then Workshee! 1: Solve these problems in diferent ways
dlscuss the answers. 1. Edna has 5 chocolate bars.
Kim has 7 chocolate bars.
. Summal’IZIl’lg the Lesson Thi!wn rErg?qr;yamore chocelate bars does Kim have
2. Dana has 3 pesos.
Problems involving “How many more?” she wants fobuy o ballpen wrich cosfs & pesos.
and “How much more?” require finding 5. Lino has 6 toy cars.
the difference. The difference can be e o oy cars doss Lino have fhan
found by “pairing” or by finding the oo
missing addend. Both ways are related to | *5zskes e puett fobring 10 erayers.
performing the operation subtraction. Give e many mers crayens doss Belh nesdt
2 examples for each so that the pupils | seio’ e
can clearly understand the meaning of fianda. - |¢ e an oranos o soch of hef
subtraction as comparing and as adding tho con e 1o all ner rande - oA se e
up.
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F. Applying to New and Other Situations

Let pupils do the Home Activity as an assignment.

Home Activity 2. The picture below shows blue balloons and
A.Solve these problems in different ways in your red balloons. How many more blue balloons
notebook. are there than red balloons?

1

a.Do you have enough money to buy the
itern below? Explain your answer. ' ' ’ , , ,} Q

blue balloons red balloons

Cost: 10 pesos

B.
@ @ @ @ @ @ 1. Write your own problem that can be solved
by “pairng” or “finding the addends”.

b.How much more money do you need to
buy the candy bar?

2. Solve the problem you wrote.

Topic: Addition and Subtraction as Inverse Operations

Objective:
To show that addition and subtraction are inverse operations

Prerequisite Concept and Skills:
a. Concept of whole numbers c¢. Concept of addition and subtraction
b. Counting

Materials:
e real hair clips esmall bag or wallet e picture cards,
e cut- outs of different objects

Instructional Procedures:

A. Posing the Problem
Show a drawing of two girls.

Tell: Gale had 6 hair clips in her bag. She gave 2 hair
clips to her sister. How many hair clips were left inside her
bag?

Ask:

a. Who is the girl in the story? [The girl in the story is Gale.]

b. What does Gale have inside her bag?[Gale has 4 hair clips in her bag.]
c. What did Gale do with her hair clips? [She gave 2 hair clips to her sister.]
d. If you were Gale, will you share what you have with your sister? Why?

Post the problem on the board. Read the story aloud while pupils read
silently.

Gale had 6 hair clips in her bag. She gave 2 hair clips to her sister. How
many hairclips were left inside her bag?
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B. Solving the Problem in Different Ways
Let the pupils solve the problem on their own.

Solution 1: Role play

Call on two pupils to act out the problem.

One will act as Gale and the other one as the sister.

Give them real hair clips and a bag to represent the objects in the story.
Guide them in acting the roles of the characters in the story.

So, the number of clips that Gale has is 6. The number of clips left to Gale
after giving 2 clips to her sister is 4.

Solution 2: By drawing
6 take away 2 is 4.
So there are 4 clips left in the bag.

C. Processing the Solutions and Answers

Ask :
What did you do to find the number of hair clips left inside Gale’s bag after
she gave 2 hair clips to her sister?
[We took away two hair clips from the
bag.]

What process is involved?

[We call this process subtraction.]

And this can be illustrated by your
drawing (in Solution 2) or by this
diagram.

Emphasize at this point that subtraction is taking objects away from a set.

Let us represent the drawing by a humber sentence:

“6 take away 2 is 4.”

] ) - 4 ]

Ask: Now, what will you add to 2 to get 6?7 [We will add 4 to 2 to get 6.]

Say: Let us represent my question and your answer by a number sentence.
2 + 0= 6

The small rectangle is where you put the answer, which is 4. So we have
2 + 6

Ask: Compare the two sentences, what do you observe?

6-2 = 4

2 + [4F 6
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Possible Answers:
[The 4 which is the difference of 6 —2 isan addendin2+4 =6.
The 6 whichisa minuendin6—-2=4isthesumin2+ 4 =6.The?2
which is a subtrahendin6 -2 =4isanaddendin 2 +4 =6.]

Say:

Notice thatif 6 —2 = 4, it follows that2+4 =60r4 + 2 = 6.
Also,if2+4=6itfollowsthat6—-2=4and 6 -4 = 2.

This process shows that subtraction and addition are inverse operations.

The following examples further show that subtraction and addition are inverse
operations:

3+5=8 9-1 =8 5-4=1
So, 8- 5=3 So, 1+8 =9 So, 4+1 =5
8 -3=5 8+1 =9 1+4 =5
2+7=9 6-1 =5 4+5 =9
So, 9-7=2 So, 1+5 =6 So, 9-5=14
9 -2=7 5+1 =6 9-4=5
D. Reinforcing the Concept and Skill
Let the pupils do Worksheets 1 and 2. Then discuss the answers.
Worksheet 1: Choose the letter of the sef in B that Set A SetB Wo'hheﬂ?.‘Dfn-'-' the missing objects in each sat on
shows the correct inverse operationin set A. 4 a. b. o rle 1 ofthe missing objects
[ sas sets >z< ;é % % o4 %
= % ré I X{: % 5 a b, i x and o
2+3=5 5-2=3 5-4=1 ﬁ ﬁ ® @ ® @ -k\.‘!/ . \
. . . ®© gg gg e
YRS kR 1188 oo (o6 | (o (&
N A . | @ ﬁ ® @ @ 2 ‘- and &- is
4+1=5 5-3=2 5-1=4 _E5= T 5= 8= ) \_ ) .
3‘¢ ‘ . N “ . 10-5=5 . 5+5=10 ) 4+6=10 S . S i} |:
g g\ e g\ e Y ) (oo
‘ ‘ 22 gg g g g g g q 3 and ; Is ::
2 ¢ ge P g g g - i
Te3=7 6_4-2 7 a-a 6-2-4 1+3-7 T+2-6 g - 2 6
E. Summarizing the Lesson s \\\\ 5
Let the pupils give their own number A\ ) L
sentences to illustrate that addition and o -
subtraction are inverse operations. (e aaa ) )
.| AR
: iy ) ) NN S
Emphasize that addition and subtraction are inverse —
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. H Activil
F. Applying to New and Other ome Activly
Liza prepared 7 plates for dinner. Only 2 plates were

Situations used. How many plates were not used?
Let the pupIIS do the Home ACtIVlty 1. 3olve the problem in different ways.
as an aSSIgnment. 2. Use the problem above to show that subtraction

and addifion are inverse operations.

Topic: Equivalent Number Expressions Using Addition or Subtraction

Objectives:
a. To represent word problems using drawings and number expressions
b. To identify equivalent number expressions involving addition or subtraction
c. To make equivalent number expressions using addition or subtraction

Prerequisite Concept and Skills:
a. Counting numbers  b. Concepts of addition and subtraction

Materials:
o real objects epicture cards ecut outs of different objects

Instructional Procedures:

A. Posing the Problem

Show a drawing of two girls. Say: These are Ria and
Liza. Then post the problem below on the board. Read
the problem aloud while the pupils read with you softly.

Mother asked Ria and Liza to go to their garden to pick some flowers for her
two vases. Ria picked 3 roses and another 4 roses. Liza picked 2 roses and 5
more roses. How many roses did each girl pick in all?

Ask:

Who are the two girls? (The two girls are Ria and Liza.], Where did they go?
(They went to their garden.), What did they do there? (They picked some
flowers.), Why did they pick some flowers? (They picked some flowers
because Mother asked them to.), If you were Ria or Liza, would you follow
what your mother asked you to do? Why?

At first, how many roses did Ria pick? (Ria picked 3 roses at first.), Then how
many roses did Ria pick? (Ria picked another 4 roses.), At first, how many
roses did Liza pick? (Liza picked 3 roses at first.), Then how many roses did
Liza pick? (Liza picked another 4 roses.)

Make the pupils solve the problem in different ways.

B. Solving the Problem in Different Ways

Solution 1: Role play
Two girls act out the situation in the problem. One plays the role of Ria. At
first, she shows 3 roses and then another 4 roses to represent the number of
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flowers she picked. She may count all the roses and gets 7. She may also
say 3 + 4 = 7. Finally, she may say that Ria picked 7 roses in all.

Another girl plays the role of Liza. She at first shows 2 flowers and shows
another 5 flowers to represent the number of flowers she picked. She may
count all the roses and gets 7. She may also say 2 + 5 = 7. Finally, she may
say Liza picked 7.

Solution 2: Using lllustrations
You may call on two pupils in front of the class to draw or stick on the board
cut outs of roses that represent the number of roses each girl picked.

For Ria For Liza
RRERRERR RRRAAR
}i’}i’}i’ }V}i’}i’}i’ \_‘Jll’\_‘fll’ }V}V\'}IV}V\}IV

3+4=7 2+5=7

It is possible that the pupils will also count the roses picked by each girl and
get 7 for each. They may also write 3+ 4 =7 and 2 + 5 = 7 for the number of
roses picked by Ria and Liza, respectively.

. Processing the Solutions and Answer

Ask: What did you do to find the total number of flowers each girl picked?
(We added the number of flowers to get the total number of flowers each girl
picked.)

Say: This can be shown by your drawing in Solution 2 or by the diagram
below.

For Ria
Wil Wi 1 R NPV NN AVAYS
3 and 4 is 7
Ask: What is the addition sentence for the total number of flowers Ria picked?
3 + 4 = 7)
For Liza
}Iv}lv ‘.ulw}lv‘;lv}lv}lv |::> Y e S S S S
2 and 5 is 7

Ask: What is the addition sentence for the total number of flowers Liza
picked?
(2 + 5 = 7)

Ask: What can you say about the two addition sentences? (Both have the
same sum.) Since both3+4 =7 and 2 + 5 = 7 have the same sum, can we
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saythat3+4=2+57?(Yes.) The expressions 3+ 4 and 2 +
5 are examples of number expressions. Since both of them
have the same value which is 7, we say that the number
expression 3 + 4 is equivalent to the number expression 2 +
5.

. Posing the Second Problem

Show a drawing of two girls. Say: These are Gina and Aisa. Post this problem
on the board. Read the problem aloud while the pupils read with you softly.

Gina and Aisa prepared sandwiches for their classmates who would go to
their house. Gina prepared 8 sandwiches. Aisa prepared 9 sandwiches.
But not all of their classmates came. Gina gave her 4 classmates who
came a sandwich each. Aisa gave her 5 classmates who came a
sandwich each. How many sandwiches were left to each girl?

Ask:

Who are the two girls? (The two girls are Gina and Aisa.)

What did they do? (They prepared sandwiches.)

Why did they prepare sandwiches? (They prepared sandwiches because
their classmates would go to their house.)

If you were Gina or Aisa, would you prepare something for your classmates if
they go to your house? Why?

How many sandwiches did Gina prepare? (Gina prepared 8 sandwiches.)
How many sandwiches did Gina give to her classmates? (Gina gave her 4
classmates a sandwich each.)

How many sandwiches did Aisa prepare? (Aisa prepared 9 sandwiches.)
How many sandwiches did Aisa give to her classmates? (Aisa gave her 5
classmates a sandwich each.)

Then tell the pupils to solve the problem in different ways.
. Solving the Problem

Ask: What did you do to find the number of sandwiches left to each girl? (We
used drawings or cut outs to represent the situation and did subtraction.)

Using drawings or cut outs:

For Gina For Aisa

QQQQ| 0000
@@&@J SO SORK

So, Gina had 4 sandwiches left and Aisa had 4 sandwiches left, too.
Processing the Solutions

Ask: What can you say about the two subtraction sentences? (Both have the
same difference.) Since both 8 — 4 = 4 and 9 - 5 = 4 have the same
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difference, can we say that 8 —4=9-5 ? (Yes.) The expressions 8 — 4 and
9 — 5 are examples of number expressions. Since both of them have the
same value which is 4, we say that the number expression 8 - 4 is equivalent
to the number expression 9 - 5.

Equivalent number expressions are expressions having the same or
equal value.

Examples: 8+1 isequivalentto2+7
10 -7 s equivalentto 6 — 3
8—-2 isequivalentto7 -1

G. Reinforcing the Concepts and Skills

Ask the pupils to do Worksheets 1 and 2. Then discuss the answers.

Worksheet 1 (| ~ ~ \ Worksheet 2: Help each dog find ifs bone. Match
> y the number expression in ¢ n
Copy two mangoes with equivalent number t number expression in columi Write the
expressions on yourpaper. e al
4 -

BRBY | | pune
RBRY | munn

(RRRY| | wRRR

H. Summarizing the Lesson

Home Activity
Write the missing number to make two equivalent

. number expressionsin your notebook.

Ask: . . . i 7 ™ /’:\
How will you know if two number expressions are | () B S (o) (O
equivalent? PR N

(Two number expressions are equivalent if they | = (<)) 7 (0)(02)

e

have same or equal value.) Say: Give your own A\ A AN N
. A 3. + ) + 8. . Ma-
examples of equivalent number expressions. &) )+ G ()
. . . AN N AN AT
I.  Applying to New and Other Situations s o) (200) % (06 ) (+0D)

Ask the pupils to do the Home Activity as an | - E',fa“fl} o (70) D’f;}
assignment. I
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Topic: Patterns in Composing and Decomposing Numbers Using Addition

Objectives:
a. Torecognize a pattern in decomposing and composing a given number
b. To decompose and compose a given number

Prerequisite Concept and SkKill:
Addition of whole numbers

Materials:
e transparent e plastic containers ecut-outs of fish

Instructional Procedures: S
_("'.;:,Cfma

.
ny fish

DS Qe 5

5 )

T Da

A. Posing the Problem

Show a drawing similar.
Tell: “This is Ronald. He brought home 6

fish. He is thinking of how many fish he will F“ ] @;‘
put in each of the two aquariums.” e A P T
Ask:

Who is the boy in the story? [The boy in the story is Ronald.]

What did Ronald bring home? [Ronald brought home fish.]

How many fish did he bring home? [He brought home 6 fish.]

What will he do with the fish? [He will put them in two aquariums.]

Do you also have a pet animal? What is it?
How do you take good care of your pet animal?

o0 wWNE

Post the problem on the board. Read the story aloud while the pupils read
softly.

Ronald brought home 6 fish. He wanted to put them into the two
aquariums. How many fish will he put in each of the two aquariums?

B. Solving the Problem in Different Ways

Call on a pupil to pretend as Ronald. Give the pupil 6
cut outs of fish and two transparent plastic containers
that represent the two aquariums. Let the pupil put
the fish cut outs in each of the two aquariums while
the rest of the pupils observe. Some pupils will have
other ideas on how many fish to put into the
container. So call on those pupils also. Pupils may
have the following possible solutions.

Ask: How many fish does Ronald have in each set?
[Ronald has 6 fish in each set]

In Solution 1, how many fish does each aquarium
contain? [Aguarium A contains 4 fish and Aquarium
B contains 2 fish.]
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How about in Solution 2? [Aquarium A contains 2 fish and Aquarium B
contains 4 fish.]

How about in Solution 3? [Aquarium A contains 3 fish and Aquarium B
contains 3 fish.]

How about in Solution 4? [Aquarium A contains 1 fish and Aquarium B
contains 5 fish.]

How about in Solution 5? [Aquarium A contains 5 fish and Aquarium B
contains 1 fish.]

. Processing the Answers and Solutions

Say: “Let us put together the fish in the two aquariums and write the addition
sentence.”

Solution 1 4 + 2 = 6
Solution 2 2 + 4 = 6
Solution 3 3 + 3 = 6
Solution 4 1 + 5 = 6
Solution 5 5 + 1 = 6
Ask: “What have you noticed? [All sums are 6.] 6+0=46
How about the addends? [We have different addends with
the sum of 6.] What if one aquarium does not contain fish, 5+1=6
what will be the addition sentence for that? [The addition 4+2=6
sentence is 6 + 0 =6 or 0 + 6 = 6] Will it also have the sum
of 67 [Yes, the answer is also 6.] 3+3=6
Let us arrange the addition sentences this way: 2+4=4¢
What do you observe? [You can get the same sum from 1+5=46
different combinations of addends.] 0+6=6

[In the different addition sentences that give the same sum,
the order of the 1¥addends increases while the order of the second addends
decreases. The first addend in the first addition sentence is 6 and the last
addition sentence starts with 0.]

Continue the discussion and let the pupils recognize the pattern in obtaining
the two different addends for the sum 6. The pattern is that to obtain the two
addends of the sum 6, start first the addition sentence with the number itself
as the first addend and zero as the second addend. Then continue
decreasing the first addend by 1 until it reaches 0 and continue increasing the
second addend by 1 until it reaches 6 .

Then focus on these ideas:
e A number can be decomposed into two or more addends. For
example, 6 can also be decomposed into 3 addends. 6 =1+2+ 3
¢ A number is composed by getting the sum of the addends:
Example: 6 +1=70r2+4+1=7
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D. Reinforcing the Concept and Skill

Ask the pupils to do Worksheets 1, 2 and 3. Then discuss the answers.

Worksheet 1: Copy all the possible addition Worksheet 2: Draw all the fish with the correct
combinations for sach given number in your addition combinations for the given number on your
notebook.
paper.
\® ooz | 1oz | 1o
@ 3e4 1+4 | 2 540
5+3 | 3+s | 1 4
@ 1+2 2+1 3+0 4+0
@ 3 1+8 +2 6+ 3
@ 2 | &a1 1 4

Worksheet 3: Write all the possible addifion
combinatians for each given numbr n yo

DD

E. Summarizing the Lesson

A number can be decomposed into two or more addends.
A number is composed by getting the sum of the addends

We can obtain the two addends of a certain
number by following a certain pattern. We
start first the addition sentence with the
number itself as the first addend and zero as
the second addend. Then continue
decreasing the first addend by 1 until it
reaches 0. Also, continue increasing the
second addend by 1 until it reaches the
number itself.

Applying to New and Other Situations

Ask the pupils to do the Home Activity as an
assignment.

the Order or Zero Properties of Addition

Obijectives of the Lesson
a. To visualize the order and zero properties of addition

Home Activity
Discover he hidden piciure. Use the legend below to
color the addends for the given number.

10- BLUE 8- YELLOW 6= BLACK
- BROWN 7- RED

Topic: Addition of Two One-digit Numbers with Sums up to 18 Using

b. To add two one-digit numbers with sums of up to 18 using the order
properties of addition

Pre-requisite Concepts and Skills:

Addition

Materials:
Real objects or cut-outs of red or white roses
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Instructional Procedures:

A. Posing the Problem
Show a drawing of two girls in the garden picking
flowers.

1. Posing Problem 1
Post the problem on the board.
Problem 1: Mother asked Grace and Jasmine to pick flowers from her
garden. She asked Grace to pick red roses and Jean to pick white roses.
Grace saw red roses and picked 8 of them. Jean did not find any white rose
so she was not able to pick any. How many flowers did Grace and Jean pick
in all?
Ask the pupils the following:
Who are the girls in the garden? [The children in the garden are Grace and
Jean.]
What are they doing in the garden? [They are picking flowers.]
What color of roses did Mother ask Grace to pick? [Mother asked Grace to
pick red roses.]
What color of roses did Mother ask Jean to pick? [Mother asked Jean to pick
white roses.]
How many red roses did Grace pick? [Grace picked 8 red roses.]
How many white roses did Jean pick? [Jean did not pick any rose.]

2. Solving Problem 1 and processing the solutions and answer
Solution 1:
Put 10 to 15 red roses on the table. Ask 2 pupils to act as Grace and Jean.
Ask Grace to pick 8 red roses and ask Jean to pick white roses.
Ask a pupil to write on the board the number of red roses that Grace picked.
(8]
Ask another pupil to write on the board the number of white roses that Jean
picked. [0]
Ask: How many flowers did Grace and Jean pick in all? [Grace and Jean
picked 8 flowers in all.]
Ask: What number sentence gives the total number of flowers that Grace and
Jean picked? [The number sentence is 8 + 0 = 8].

Find the sum of the following and give a reason for your answer.

a. 9+0 c.0+7

b. 4+0 d.0+6
What do you observe about the sumsin9+0=9,4+0=4,0+7=7,and 0
+ 6 = 67 [When a number is added to zero, the sum is the number itself.]

Focus on the idea that the sum of a number and 0O is equal to the
number itself or the sum of 0 and a number is the number itself.

3. Posing Problem 2
Problem 2: Suppose that during the following week, the white roses bloomed.
If Mother asked Grace to pick 8 red roses and Jean to pick 7 white roses,
how many flowers can they pick in all?
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4. Solving the Problem in Different Ways
Solution 1: Role play
Ask 2 pupils to act as Grace and Jean. Give 8 red roses to Grace and 7 white
roses to Jean. Let Grace count her red roses and let Jean continue to count
on the red roses. Then ask “How many roses are there in all?”
7 white roses and 8 red roses are 15 roses in all.

Solution 2: Using drawing So there are 15 roses in all. or
b Faaaz o R & o e e e
¥ ¥ L F ¥ ¥ ¥ % ¥ ¥ 2 ¥ ¥ ¥ ¥ ¥
o e LG A rrr
’¢ ’¢ and | e | s ’\ﬁ. :”; :_” ": o0 | and 1\##\# is akar
- gy R e 2R et b aaashecs
e b e 2 ,». ,‘\. ik
Sredroses + 7 whileroses = l5roses 7whileroses = 8 redroses = 1510ses

Solution 3: Counting on

VY Q7 QF QF Q7 7 Q)

8 roses and by counting on: 9, 10, 11, 12, 13, 14, 1 5. So there are 15 roses

in all.
Solution 4: Forming a group of 10 and then counting on.

*oooooePeeE

Qs Talaslalslasla 1 o )
e e £c e £c Y
XXX

VW QF 9 QF Y

10 roses

Forming a group 10 roses and then counting on: 11, 12, 13, 14,15. So there
are 15 roses in all.

5. Processing the Solutions and Answer
Ask some pupils to show their answer on the board.

Say: If we have 8 red roses and 7 white roses, altogether we have 15 roses.
We write 8 + 7 = 15. Also, if we have 7 white roses and 8 red roses,
altogether we have 15 roses. We write 7 + 8 = 15.

Ask: What do you observe about the sum of 8 + 7 and 7 + 8?[The sum of 8 +
7 is the same as the sum of 7 + 8. They are both 15.]

What do you observe about the order of the addends? [The orders of the
addends are interchanged.]

So what can you say about changing the order of the addends?
(If we change the order of the addends, the sum does not change.)
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This is called the order property of addition. Focus on this idea.

6. Reinforcing the Concepts and Skills Worahee
Let the pupils answer Worksheets 1 and 2. Then Ay cnvite ne conect ensweron vour
discuss the answers. é 23}‘33;:
4. 7+0 =
7. Summarizing the Lesson 580 =
Make the pupils write 3 examples on their show e e NG nomiseron yourpaper
me board to show that the sum of any number zose
and 0 is the number itself. coqobd
Make the pupils write 3 examples on their show wgrksl‘m
me board to show that changing the order or AWits he mising numbar on yourpope.
position of the addends will not change the sum. L e e
8. Applying to New and Other Situations R B
Let the pupils answer the Home Activity as an > svtomise b o iser -7 L
assignment.
Home Activity

Write the missing number sentence in your notebook. 4.
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sy iy @ Q9 ,, 99 [ 99 53

1
o] is and
b Ol . Qo o 515 9P O 9
QW and  @@QE s , and @@
[rriin) @ @g@ @ @ o9 @9 @
2 ° S .
2 == un.y
q q CZ q and \‘:’. \\ \ is \‘:’. Q and
L4 L4 8
L4 3

N
VNN @
SN
N\

\ O\

;7‘;7

vy
}74 i74
v

AN
AN

Topic: Addition of Three 1-Digit Numbers Horizontally and Vertically with Sums
up to 18 Using Order and Grouping Properties of Addition

Objective of the Lesson:

To add three 1- digit numbers having sums up to 18 vertically or horizontally
using order and grouping properties of addition.

Prerequisite Concepts and Skills:
a. Adding two 1- digit numbers b. Using order property of addition

Materials:
e Counters of 3 different colors

Instructional Procedures:

A. Posing the problem

Show a drawing of children planting. Say: These
children are all Mathematics Club officers. They help beautify our
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mathematics garden. If you were the officers, how are you going to help your
school?

Ask: What are the children doing? (The children are planting.)

What are they planting? (They are planting gumamela, rose and santan.)
Why are they planting? (They are planting to beautify their mathematics
garden.) How do you help your school?

Post the problem below on the board. Read it aloud while the pupils read it
with you softly. Ask them to solve the problem in different ways.
Problem:

For the beautification of the mathematics garden, the Mathematics Club
officers planted the following flowering plants: 9 orchids, 4 roses, and 5
santans. How many did they plant in all?

B. Solving the Problem in the Different Ways

Solution 1:
We use counters to represent the number of plants.

I and [iif and (Il is ([T

Solution 2: We want to add 9, 4, and 5. Add 9 and 4 first. The sum is 13.
Then add 13 and 5. The sum is 18. S0 9 + 4 + 5 = 18 plants in all.

Solution 3: We want to add 9, 4, and 5. Add 4 and 5 first. The sum is 9. Then
add 9 and 9. The sumis 18. S0 9+ 4 +5 =18 plants in all.

Solution 4: We want to add 9, 4, and 5. We change the order of 4 and 5. This
we can do because changing the order of the addends does not change the
sum. We add 9 and 5 first. The sum is 14. Then we add 14 and 4. The sum is
18. S0 9+ 4 + 5= 18 plants in all.

Solution 5: Solution 6:
9 13 9g—P» 9
4 ; 4
+5—_L5 + 5 9
18 plants in all 18 plants in all

These are sample answers which the pupils may or may not give. However, the
teacher should prepare correct and incorrect ways of solving the problem. Wrong
solutions are important to have something to compare with the correct solutions.

C. Processing the Solutions and Answers

Let the pupils focus on Solution 1 which is using counters.

Ask: How did you get your answer? (We put together the 9 counters which
represent the 9 gumamela plants, the 4 counters which represent the rose
plants and the 5 counters which represent the santan plants. Then we
counted. S0 9 + 4 + 5 =18 plants in all.)

Let the pupils focus on Solution 2. Ask the pupils having this way of getting
the answer to raise their hands. Then explain that what they had done can be
written this way:
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9+4)+5=13+5
13 +5 =18 plants in all

Say: The pair of parentheses that enclosed 9 + 4 mean that 9 and 4 have to
be added first. That is 9 + 4 = 13. Then to this sum, 5 is added. That s, 13 +
5=18.

Let the pupils focus on Solution 3. Ask the pupils having this way of getting
the answer to raise their hands. Then explain that what they had done can be
written this way:

9+(4+5)=9+9

9+ 9 =18 plants in all

Say: The pair of parentheses that enclosed 4 and 5 mean that 4 and 5 have
to be added first. Thatis 4 + 5=9. Then 9 is added to this sum. Thatis, 9 + 9
=18.

Ask: What do you observe about Solutions 2 and 3? (The addends are the
same in both Solutions. But in Solution 2 the first two addends are enclosed
by parentheses. These are 9 and 4. In Solution 3, the last two addends are
enclosed by parentheses. These are 4 and 5. But the sum in both Solutions is
18.)

Let the pupils focus on Solution 4. Ask the pupils having this way of getting
the answer to raise their hands. Then explain that what they had done can be
written this way:

9+(5+4)=9+9

9+ 9 =18 plants in all

Ask: What do you observe about Solution 3 and Solution 4? (In both
Solutions, the addends 4 and 5 are enclosed by parentheses. But the orders
of these addends are different in these Solutions. In both Solutions, the
answer is 18.)

Focus on the following ideas:
¢ In adding three 1-digit numbers, 2 addends can be grouped. The
sum of these 2 addends can be added to the 3" addend.
e Parentheses are used to show the grouping.
e Changing the grouping of the addends does not change the sum.

Look at Solutions 5 and 6.
Solution 5: Solution 6:

9 —13 9—¥» 9
4 4
+5 >9

18 plants in all

+5 —» 5
18 plants in all

How are the addends written in Solutions 5 and 6? (The addends are written
vertically). What do you observe? (The sum is the same as those in the
addition sentences where the addends are arranged horizontally).
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Focus on these ideas:
¢ In adding three 1-digit numbers, the addends can be written vertically
or horizontally and the sum remains the same.

e In solving problems, it is important to identify the given facts and what
is asked in the problem.

D. Reinforcing the Concept and Skill syl S
« Ask pupils to do Worksheets 1 and 2. Then | | ";7] - _;7]

discuss the answers.

E. Summarizing the Lesson

Let the pupils get the sum of three 1-digit numbers
in different ways. Then, let them explain how they
arrived at their answers.

Emphasize that changing the grouping of the addends
does not affect the sum. And even if the addends are

written vertically or horizontally the sum is the same.

. 3.a. 15+ (6+8) =
F. Applying to New —— o b (1544 + 0=
Ll e sum. en compare and explain e Qnswers —
and Other that you get in the different letters for each item. . 2 F—
Situations i 0y
l.o. [4+¢)+2= 6 .
b. 4+[6+2) = +8 T -
Let pupils do the e I ta (2049 +7-
e I b. 20+ (9+7) =
Home Activity as an 22— o 20
. d 4 o F—
assignment. - +7 -
+2 - d. 20 —
9
2.0. 7+ (3+3) = + 7} .
b, (7+9)+3=
e 7 5.a. 15+28=
t— b. 28+ 15=
7 c. 15+28+28 =
+3 —
d 7—>
9}4‘
+3

Topic: Using Expanded Form to Explain the Meaning of Addition

Objectives:
a. To express a number in its expanded form
b. To add numbers using their expanded form

Prerequisite Concepts and Skills:
a. Addition b. Decomposition of numbers
c. Order and grouping properties of addition

Materials: counters such as sticks

Instructional Procedures:

A. Posing the Problem

Show a picture of a mother looking at a table with one tray of 12 eggs and
another tray of 24 eggs.
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Then post the following problem on the board.

Mother bought 2 trays of eggs. One tray contained 12 eggs and the other
contained 24 eggs. How many eggs were there in all?

Tell the pupils to solve the problem in different ways.
. Solving the Problem
The pupils may give the following solutions:

Solution 1: By using counters
Count 12 sticks. Then count 24 sticks. Then count all the sticks. There are 36
sticks in all. So12 + 24 = 36 eggs in all.

Solution 2: By counting on
Pupils count on to have 12 numbers after 24. These are 25, 26, 27, 28, 29,
30, 31, 32, 33, 34, 35, 36. S0 12 + 24 = 36. There are 36 eggs in all.

. Processing the Solutions and Answer

Ask: How did you get 367 (In Solution 1, we used counters to represent the
eggs. We counted 12 sticks. Then we counted another 24 sticks. We counted
the total number of sticks and got 36. So 12 + 24 = 36 eggs in all. In
Solution2, we counted on 12 numbers after 24. These are 25, 26, 27, 28, 29,
30, 31, 32, 33, 34, 35, and 36. So 12 + 24 = 36 eggs in all.)

Say: We can also get 36 by using what we know about decomposing
numbers.

Ask: How will you decompose 12 into 2 addends so that the addends are
tens and ones? ( 12 can be decomposed into 10 and 2.) How about 24? (24
can be decomposed into 20 and 4.)

Say: Recall that two or more numbers are a decomposition of a given number
if their sum is equal to the given number.

Ask: Can you say that 10 and 2 are a decomposition of 12, and 20 and 4 are
a decomposition of 24? (Yes, because 12 = 10 + 2 and 24 = 20 + 4.) Say:
Now we can add 12 and 24 by adding the sum of 10 and 20 which is 30 to
the sum of 2 and 4 which is 6. We can write this as:

(10 +2) + (20 + 4)
(10 + 20) + (2 + 4)

12 + 24
(10 + 2) + (20 + 4)

(10+20) + (2 + 4) 30+6
30+6 36
Sol2+24 36.

Focus on the ideas:

Expressing a number into tens and ones is called the expanded form of a
number. The expanded form of a number can be used to add two or more
numbers.

Say: Let us consider another example. What is the sum of 33 + 45?7
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Ask: How can we decompose each number into tens and ones? (We can
express 33 as 30 + 3 and 45 as 40 + 5.) So how do you now add 33 and 457
And what is the sum?

Solution:
33+45
(30 +3) + (40 + 5)
(30 + 40) + (3 +5)
70+ 8
So033+45

(30+3)+ (40 +5)
(30 +40) + (3 +5)
70 +8

78

78

Worksheet 1: Expres:
farm. Write your ans

ach number in expanded
L k.

in your notebool

1.18 6.61
2.30 7

3.35
4.48 9.92
5.54 10.99

D. Reinforcing the Concept and Skill

Let the pupils do Worksheets 1 and 2. Then
discuss the answers.

E. Summarizing the Lesson

Ask the pupils to give two numbers and let them find the sum using the
expanded form of the numbers.

Home Activity
1. Solve the problem in different ways in your
nofebook.

Maria brought 33 eranges while John brought 56
oranges. How many oranges did they bring in
aliz

F. Applying to New and Other Situations

Let the pupils do the Home Activity as an
assignment.

2. Make your own problem. Then solve the
problem completely.

Topic: Addition of Numbers with Sums through 99 without Regrouping

Obijectives of the Lesson
a. To visualize the addition of numbers with sums through 99
b. To deduce the process of adding numbers with sums through 99
c. To add numbers with sums through 99

Pre-requisite Concepts and Skills
a. Place value b. Addition of two 1-digit numbers

Materials:
¢ longs and units models eballoon cut-outs

Instructional Procedures:
A. Posing the Problem:

Show a drawing of balloon shop with a mother buying balloons.
Ask:  What is mother doing in the ‘balloon shop’?

(Mother is buying balloons)

Post the problem on the board.

Problem:
Mother bought 24 red balloons and 15 blue balloons for the birthday party of
her daughter. How many balloons did mother buy in all?

91



B. Solving the Problem:

Solution 1. Act it out

Ask 2 pupils to act as mother and balloon vendor. The pupil acting as the
balloon vendor will give 24 red balloons and 15 blue balloons to the pupil
acting as mother. The pupils count all the balloons to get the total number of
balloons mother bought. So, mother bought a total of 39 balloons.

Solution 2. Using drawings 09650000 000000
By counting all the balloons in the big rectangle, we |*®eeeeee seeose
have 39 balloons in all. So, mother bought a total of )3555@"
39 balloons. cona0 00000

[elelelele] [elelele]e]

Solution 3. Using the expanded form of a number
24=20+4
15=10+5

S0,24+15=(20+ 10) + (4 +5)
By counting on, 20+ 10=30and 4 +5=9. And 30 + 9 = 39.
So, mother bought a total of 39 balloons.

C. Processing the Solutions

Ask:
In Solutions 1 and 2, how did you arrive at your answer?
(We counted all the balloons)

How about in Solution 3? (We expressed first the numbers in expanded form
and to find the sum, we used the method ‘counting on.’)

Say: a

We can get the sum of 24 and 15 using this model. 1 orii o e
(Show the longs and units models and tell that 1 long e 10 uni
= 10 units)

ASk: 1long
In 24, how many longs are there? (There are 2 longs.)

How many units are left? (There are 4 units left.)

In 15, how many longs are there? (There is only one long.)
How many units are left? (There are 5 units left.)

(Show the process by actual demonstration and later represent the process
by this diagram.)

How many units are there in 3 longs? 2 g g
(There are 30 units.) 88

(There are 39 units.)

::'ﬂ 3longsand ¢
g

So in all, how many units are there? ; g

Say: So, we can say that 24 + 15 = 39 which can also be written as:
24
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+15

39
24
Look closely at + 15 . What do you observe? (9 is the sum of 4 and 5 and
39

3 is the sum of 1 and 2)

Focus on the idea that in adding two 2-digit numbers without regrouping, we
add the numbers in the ones place and we also add the numbers in the tens
place. This can be quickly remembered by giving this process.

Tens Ones
2 |4
+1 |5
319

Then later on, remove the tens and ones and just give this:

24
+15
39

At this point relate the above idea to Solution 3 which involves the expanded
form of a number.

Worksheet
. Reinforcing the Concept o e ool g fmoer Sxeresians
1.32+26=_ 6. 63+36=_
Let the pupils do the Worksheet. Then discuss | :%i%i— 7 di%i—
the answers. ChimiTT aman——
L. B. Fm_d the sum of the above number expressions
- Summarizing the Lesson i i ot egrousing, e

To add two 2-digit numbers without regrouping,

e write the given numbers vertically or in column.

e add the numbers in the ones place. Write the sum just below the addition
line. Align it with the ones place.

e then add the numbers in the tens place. Write the sum just below the
addition line. Align it with the tens place.

Example:
Find the sum of 64 + 32
Solution:
4 Home Activity
1 )
6 Write your answer in your notebook.
+_32 4_ Addltlon Ilne 1.Give two 2-digit numbers whose sum is 99.
96 a:m'pc;]re yourbcnswer to those of your seaimates.
at do you observe?
. . . 2. Use the numbers 1, 2, 3 and 4, fo get:
. Applying to New and Other Situations amegeosism 0
Let the pupils do the Home Activity. The activity
may be a given as an assignment. b.Theleast sum o0
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Topic: Addition of Numbers with Sums through 99 with Regrouping

Objectives of the Lesson:
a. To represent a situation in different ways
b. To visualize adding 2-digit numbers using longs and units
c. To add 2-digit numbers with regrouping

Prerequisite Concepts and Skills:
a. Place value b. Addition of two 1-digit numbers c. Concept of whole number

Materials
e picture cards elongs and units eplace value chart

Instructional Procedures:
A. Posing the Problem

(Post a picture of two girls in the garden). Post the problem on the board. Call
one pupil to read it.

Problem: Betty and Beth went to their garden. Betty picked 24 flowers. Beth
picked 18 flowers. They put the flowers in a vase. How many flowers are
there in the vase?

Ask:

a. Who are in the garden? (Betty and Beth are in the garden.)

b. What are they doing in the garden? (They are picking flowers.)
c. How many flowers did Betty pick? (Betty picked 24 flowers.)

d. How many flowers did Beth pick? (Beth picked 18 flowers.)

B. Solving the Problem in the Different ways
1' w ACt It OUt _24 flowers picked 18 flowers picked __ flowersin the vase
Call two girls to act as Betty and > by et

Beth. These two girls act out the 2 20 L. 222209
situation. Then they counted the 2 2 @ 2 o 2 2 2 0 o
flowers after putting them in the | = » s @ 'EEEER
vase. They were 42 flowers. 2080 o EEEE.

We counted the flowers in the big
rectangle. There are 42 flowers in the
vase.

2. Solution 3: Using the idea of

TR N

» » > > > »
> > > > > »

TRTOTOTOTRTT

expanded form of a number 5o -
We can rewrite 24 into 20 + 4, 18 2‘* ®o —

into 10 + 8. So,
24 = 20+4
+
18= 10+8
30+ 12
We can rewrite 12 into 10 + 2. So0,30+ 12=30+ 10+ 2
=(30+10)+2
=40+ 2
=42

So, there are 42 flowers in the vase.
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C. Processing the Solutions

Ask: In Solutions 1 and 2, how did you find the total number of the flowers?
(We counted the flowers.)

How do use the longs and units model to arrive at 427?

(Note: Pupils may give the following solution which is incomplete because
what they know is adding numbers without regrouping. However, you can use
this solution to build up the idea of adding numbers with regrouping.)

Ask: Solution:
When we combine the 4 units and the
8 units, how many units are there in
all? (There are 12 units in all.)

How many longs can you form from
12 units? (We can form 1 long.)

After forming one long, how many
units are left? (There are 2 units left.) b
We can combine this one long with

the 3 longs, so how many longs do we

have now? (We have now 4 longs.)

24

om
og

ooom
ooom

Tell:

After the process, we have now 4
longs and 2 units. The process is
called regrouping. The process is
shown by this drawing.

[Note: The process should be
illustrated by using real longs and
units.] 1
Ask:

Remember that 1 long = 10 units, so
how many units are there in 4 longs?
(There are 40 units.) In 4 longs and 2 units, how many units are there?
(There are 42 units).

2

OTTIT1rTTr1
Y
[m]m]
] m]

Tell:
So we can now say that, 24 + 18 = 42
Note: That we can also write 24 + 18 = 42 as
24
+ 18
42

Ask:

What do you think should you do with the digits of 24 and 18 so that you
obtain a sum of 42? (We add 4 and 8 to get the sum of 12. Write the 2 below
the addition line aligned with the ones place. Then add the 1 to the sum of 2
and 1 in the tens place. This gives 4. Write this below the addition line under
the tens place. So we have 42.)

Relate their answer to the idea of “ones and tens’ and show this illustration.
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1ten

N
18 12 ones

42Q

2 ones

Focus on this idea:
To add 2-digit numbers with regrouping:

write the two numbers vertically or in column.
add the numbers in the ones place then regroup the sum into tens and ones.
add all the numbers in the tens place.

Tell:
To remember the process quickly, let us use the place value chart:
Tens | Ones ) 1
Or simply we have, +12] 4
2 4 18
1 8
3 12 | (Add)

Ask:

How are numbers arranged? (They are arranged in column.)

What should we add first? (We add the numbers in the ones place first.)
What will you do next? (We regroup the sum of the ones into tens and ones.)
After regrouping, what will you do next? (We add the numbers in the tens
place tens.)

Let us find the sum of each of these:
1

1
Lt 2 S
6 2 8 5

Give more examples and go around to see if the pupils are following the
process on how to add two 2-digit numbers with regrouping.

Now relate the process to Solution 3 which uses the expanded form of a
number to get the sum.

. Reinforcing the Concept

Let the pupils do Worksheets 1, 2 and 3. Then discuss the answers.
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Worksheet 1

Worksheet 3
1. Find the sum using the lonas and units models.
o)24=37 =2 Solve each problem. Write your answer in your
b)46 + 35 = notebook.
€)43+39 = f @)Tony has 19 rubber bands.
)36+ 47 = 7

Roy has 14 rubber bands
2find also the sum using the process described How many rubber bands do they have

above. Write your answer on your paper. altogether?

3. What can you say about your answers n A and B7 bjConnie has A8 paper dolks
Explain why Cynthia has 16 paper dolls.
How many paper dolls do they have
altogether?
Worksheet 2 !
Find the sum. Write your answer on your paper. c)Ludy has 24 popsicle sticks.
2 8 3 s 3 8 Trina has 28 popsicle sticks.
a +5 bl +7 7 ol +3 3 P

How many popsicle sticks do they have in ali?

d)Tracy has 38 cards.

@+ 40 o+ 8 5 h+7 7 Kara has 14 cards.
7 ‘ How many cards do they have in ali?
6 4 5 N 6 9

a + moads nas 2

E. Summarizing the Lesson

To add two 2-digit numbers with regrouping:
e write the two numbers vertically or in column.
add the numbers in the ones place first.

[ ]
e regroup the sum into tens and ones. o
e then add all the numbers in the tens place. AThere are ___ oranges n @ paper bog.

Tony adds more oranges
How many oranges does Tony have in the bag,

F. Applying to New and Other Situations nows

Solve in different ways.

Let the pupils do the Home Activity as assignment.

A.Mira has 34 sficks.
She gets 19 more.

Topic: Mentally Add Three 1-digit Numbers he put ol of them n o box

How many sticks does she have in all?

Wlth SumS Up to 18 Solve in different ways.

Obijectives of the lesson
To add three one-digit numbers mentally with sums up to 18

Prerequisite Concepts and Skills:
¢ Adding three 1-digit numbers horizontally and vertically with sums up to 18

Materials: Number cards

Instructional Procedures

A. Posing the Problem ‘\‘9

Show a picture of three children. Say: “This is E&; -f f""""',
Malou, Mira and Macy. They are in a bookstore i\
buying boxes for their project.”

Ask:
Who are in the bookstore? [Malou, Mira and Macy are in the bookstore.]
What are they doing in the bookstore? [They are buying boxes.]
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Post the following problem on the board. Call one pupil to read it.

Malou, Mira and Macy went to a bookstore.
Malou bought 3 blue boxes.

Mira bought 7 red boxes.

Macy bought 5 yellow boxes.

How many boxes did the girls buy altogether?

Ask:

How many blue boxes did Malou buy? [Malou bought 3 blue boxes.]
How many red boxes did Mira buy?[Mira bought 7 red boxes.]

How many yellow boxes did Macy buy? [Macy bought 5 yellow boxes.]
How many boxes did they buy altogether?

To answer the last question, ask the pupils to show different solutions.
. Solving the Problem in Different Ways

Solution 1:
(3+7)+5= 10+5 or  3+(7+5)=3+12 or (3+45)+7=8+7
15 =15 = 15

So, the three girls bought 15 boxes.

Solution 2:
3 or 3 3 or 3
+ 7 > 10 + 7 + 5 > 8
5 5 5 12 7 7
15 15 15

So, the three girls bought 15 boxes.

. Processing the Solutions and Answer

Ask: How did you get your answer? [We got the sum of 3, 7, and 5 by
grouping the addends.]

Tell: We can also find the sum of 3, 7, and 5 mentally by taking the sum of 3
and 7. This is equal to 10. Then add this sum to 5. This gives us 15. We can
write the process as:

3+7=10
10+ 5=15

Let us consider this other example: 3+ 9+ 4

Notice that there are no two addends whose sum is 10. To get the sum of 3,
8, and 4 mentally we can take the sum of 3 and 4 first. This is 7. Then add
this sum to 9. This gives 16. We can write the process as:

3+4=7
7+9=16

Another way is to take the sum of 3 and 9 which is 12 and add the sum to
4.This gives 16.
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Still another way is to take the sum of 9 and 4 which is 13 and add this sum
to 3. This gives 16.

Focus on:

To add 3 one-digit numbers mentally, look for 2 addends whose sum is 10
then add this sum to the remaining addend. If there are no addends which
when added give a sum equal to 10, take the sum of any 2 addends and add
this sum to the remaining addend.

D. Reinforcing the Concept

1. Give the following activity:
Call 4 pupils in front of the class. Give each child one number card. Tell the
rest of the class to check if the sum that is given is correct.
The first child will shout his/her number.
The second child will shout the word “plus” then his/her number.
Then, the third child will shout the word “plus” then his/her number.
Finally, the fourth child will shout the sum of the 3 numbers.
The class checks if the sum is correct.

You may repeat the activity until several groups have been called to
participate.

2. Let the pupils do Worksheets 1, 2, and 3. Then discuss the answers.

Worksheet 1: Write the addifion sentence in your Worksheet 2: Give the sum mentally. Describe how
notebook and give the sum mentally. Describe how
ou gotthe sum.

Worksheet 3: Find the sum mentally. Describe how
you gotthe sum. you gotthe sum.

{ﬁ’fh {‘:kﬂ'ﬁ} *._ 9 7 8 1. 2. 3
[rr e/ + g g g 5+4+5=:|‘ a+4+3:1j‘ s+4+a:{]‘
+ + +
u\[ﬁm . 5. &
Lﬁ.h L\ﬂ‘f"J
e sea+3d | s+3+29 || [9+2+459 |
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o
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+
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+
Ul w o
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E. Summarizing the Lesson p——

Solve each problem mentally. Show how you got
your answer.

To add 3 one-digit numbers mentally, look for 2 | = _ ..
addends whose sum is 10. Then add this sum to Tomemvarniamos,
the remaining addend. If there are no addends | . e
whose sum is 10, get the sum of any 2 addends. | .

Then add this sum to the remaining addend. T e s,

Toni picks 5 red sanfans.
They put all the flowers in o basket
How many flowers are there in the basket?

Total number of crayons:

F. Applying to New and Other Situations

Total number of flowers:

Give the Home Activity as an assignment. sl hos 8 morces

Tim gave Billy 5 more.
Jose added 3 more,
How many marbles does Billy have in all?

Total number of marbles:
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Topic: Mentally Add a 2-Digit Number and 1-Digit Number with Regrouping

Objectives of the Lesson:
a. To visualize adding 2-digit and 1-digit numbers with regrouping
b. To add mentally 2-digit and 1-digit numbers with regrouping

Prerequisite Concepts and Skills:
a. Adding three 1-digit numbers mentally
b. Expressing a 2-digit number into its expanded form

Materials: Squares or picture cards to represent stickers

Instructional Procedures:
A. Presenting the Task

Show a picture of two boys collecting stickers. Then post
the following problem on the board. Read it aloud while
the pupils follow you silently.

Tom and Totoy are friends.

They collect stickers.

Tom has 18 stickers.

Totoy gives him 9 more stickers.

How many stickers does Tom have in all?

Ask:

Who are the friends? [Tom and Totoy are friends.]

What do they do? [They collect stickers.]

How many stickers does Tom have? [Tom has 18 stickers.]
How many stickers does Totoy give Tom? [Totoy gives Tom 9 stickers.]
How many stickers does Tom have in all?

Tell the pupils to think of ways of how to get the answer mentally.
B. Performing the Task

Pupils may get the answer by applying what they already know about adding
numbers with regrouping.

Solution:
18
+ 9

27
So, Tom has 27 stickers in all.

Encourage the pupils to use their picture cards or squares to show a solution
described in “Processing the solution” as a way to mentally get the answer. It
would be good if the pupils themselves can think of this solution.

C. Processing the Solution

Ask: How did you get your answer? [We got the sum of 18 and 9 by adding
the numbers using regrouping.]
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Say: We can also get the sum of 18 and
9 mentally. Let us visualize first. We want
to add 18 and 9. Eighteen stickers can be
shown as 10 stickers and 8 stickers.
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Take away 2 stickers from_the 9 stickers ‘D OooO DDDDD’ om
and add them to the 8 stickers to form |DOOOO0O|0C0O0O0E ||
another group of 10 stickers. Seven a0d
stickers are left in the original group of 9 ~___ " ° l/ ! T/
stickers. The results are as shown. 1041047 or 2047227

How many stickers are there all in all? [There are 10 + 10 + 7 stickers, or 27
stickers in all.]

Focus on this idea:
To add 2-digit and 1-digit numbers mentally, first express the 2-digit
number into its expanded form. Then mentally add the 3 numbers.

Applying this idea to get the sum of 18 and 9, we have
18 + 9 = (10 + 8) + 9 since the expanded form of 18 is 10 + 8.
Then we have,
10+8+9 =10+ (8+9)
=10+ 17
= 27.

Let us apply this idea to these two examples:
1. Findthe sum: 25+ 8

25+8 = (20 + 5) + 8 since the expanded form of 25 is 20 + 5.
(20 +5)+8 =20 + (5 + 8)
=20+ 13
=33
So25+8 =33.
2. Find the sum: 38 + 7
38+7 =30 + 8 + 7 since the expanded form of 38 is 30 + 8.
=(30+8)+7
=30+15
=45
S038+7 =45.

. Reinforcing the Concept

Worksheet 1: Choose the comsct sum. Describe how Worksheet 2 Find ine
you got the sum. un

Let the pupils do

Worksheets 1 and 2. Then |[ % BT v v v
discuss the answers. o = o s e w ow s
A A
i 19 - 45 I " ;
+ 8 + 6 q’ q’ "
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Home Activil

H. Summal'IZIng the Lesson Solve each problem mentally.

2

There are 17 doves and There are 25 boys and

9 parrots, How many 8 girls. How many

To add 2-digit and 1-digit numbers, express the | |seesreenes | o aeraen
2-digit number into its expanded form. Then s
mentally add the 3 numbers.

I.  Applying to New and Other Situations

Let the pupils do the Home Activity as an
assignment.

There are 15 guavas
and8 mangoss. How
many fruits are there in
all?

Topic: Solving One-step Word Problems Involving Addition of Whole Numbers
Including Money

Obijectives of the Lesson:
a. To transform a problem into a number sentence
b. To solve problems

Prerequisite Concepts and Skills:
a. Concept of whole number  c. Writing addition sentences
b. Adding 2-digt numbers with or without regrouping

Materials: eReal objects eCharts ePicture cards
Instructional Procedures:
A. Posing the Problem

Ask: When is your birthday? How do you celebrate your birthday?
Show a picture of a girl. Say: This is Cathy.
She celebrated her 7™ birthday. Mother
prepared spaghetti, fried chicken and
sandwiches. Cathy was so happy. There
were 18 boys and 15 girls who attended the
party. How many children attended the party?

Post the problem on the board.

Cathy invited her friends to celebrate her 7"
birthday. Mother prepared sandwiches, spaghetti and fried chicken.
There were 18 boys and 15 girls who attended the party.

How many children attended the party?

Ask the pupils the following questions:
a. Who celebrated her birthday? [Cathy celebrated her birthday.]
b. How old is she? [Cathy is 7 years old.]
c. What foods did mother prepare for her? [Mother prepared spaghetti,
fried chicken and sandwiches.]
d. How many boys attended the party? [There were 18 boys who
attended the party.]
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e. How many girls attended the party? [There were 15 girls who
attended the party.]

B. Solving the Problem in Different Ways

Solution 1: Act it out
Call a pupil who will act as Cathy and another pupil who will act as mother.
Call 18 boys and 15 girls. Ask them to act out the situation.
So there were 33 children who attended the party.
Solution 2:

18

+15

33

So, there were 33 children who attended the party.

\ The children may give other ways on how to solve the problem.

C. Processing the Solutions and Answer

Say: Let us discuss how you solved the problem.

Ask:

e What did you do first in solving the problem? [We read and understood
the problem.]

e To understand the problem, what did you note? (Pupils may give many
answers. But it is important that these include: eighteen boys and fifteen
girls attended the party and that the problem asks for the number of
children who attended the party.)

¢ What did you do next after understanding the problem?[We thought of the
operation to use to answer the problem. We also thought of the number
sentence.]

o After this, what did you do? [We performed the operation to arrive at the
answer.]

e How sure are you that you were able to answer what was asked for in the
problem? (We checked our answer.]

Focus:

Step 1: Read and understand the problem. In understanding the problem, take
note of the given facts and what is being asked for in the problem.

Step 2: Plan the solution. In planning the solution, determine the operation, the
representation be it a number sentence or a drawing that will be used to solve
the problem.

Step 3: Carry out the plan. Solve the number sentence.

Step 4: Verify the answer. Check the answer if it is reasonable or it makes sense.

D. Reinforcing the Concept

Give this other problem: Mang Baste earned 23 pesos for selling old
newspapers. He also earned 25 for selling old magazines. How much did
Mang Baste earned?

103



you use?
Solution:
Final Answer:

What are the given facts? What is asked? What number sentence will

Let the pupils answer Worksheets 1, 2, and 3. Then discuss the answers.

Worksheet 2

Thomas and Peter went to the park.
They saw 10 girls and ¢ boys playing.
How many children did they see in all¥

1. What are the given facts?

2. What does the problem ask?

3. What is the number sentence?

4. How do you sclve the problem?

Worksheet 1
Copy and complete the chart in your notebook. The Corahas 26
first item is done for you. pesos.
Mother gave
i her § pesos
story Problem | W9 | Given | Addifion ore, How

Facfs: Senience much money
Pathas 4 cafs.  [Total 4cats | Total does Cora have
Pilarhas & number | épuppies |Number of inal2
puppies. ofcats pets=4+6 -
How many pets [and Pedro has 22
are there puppies $G¥.es‘h 3
altogether? in-inhas

- leaves.

Sid ate 12jelly
candies. Howmany
Pit afe 9 Jelly leaves do they
candies, foo have
How many jelly aliogether?
candies did Cindy paid 11
they eat pesos for the art
altogether? papers. She also
Sam jumped 10 paid 5 pesos for
times. the felt papers.
Tinajumped 8 How much did
fimes. Candy pay in
How many times all?
did they jump
altogether?

5. What is the final answer?

Read each problem then, answer the questions.

Terry paid 12 pesos for the aranges.
Corapald 15 pasos for the guavas.
How much did they pay altogether?

1. What are the given facts?

2. Whatis asked in the problem?

]

What is the number sentence?

s

How do you solve the problem?

o

. What Is the final answer?

Worksheet 3
Solve each problem. Write your answer on your
paper

1. Motherused 12 eggs for baking cupcakes.
She also used 24 eggs for making leche flan.
How many eggs did mother use in all?

N

. Minahas 11 candles.
Bert has 24 candles.
How many candles did they have altogether?

w

Toti earned 25 pesas for seling pandesal on
Menday

He earned 20 pesos more on Tuesday.
How much did he earn on Monday and
Tuesday?

IS

Botty has 45 pesos.
Father gives her 40 pesos.
How much money does Belty have in allz

E. Summarizing the Lesson

In solving a problem, we follow these steps:
o Step 1: Read and understand the problem. Know the given facts and

what the problem asks.

e Step 2: Plan the solution. Represent the
problem by drawing (if needed) then by a

number sentence.

Home Activity

Solve the problem in different ways

- ) (.

Nicky bought slices of &

e Step 3: Carry out the plan. Solve the T forhertiends.

number sentence.

Mother bought slices of

e Step 4: Verify the answer. Check the =

answer if it makes sense.
F. Applying to New and Other Situations
Let the pupils do the Home Activity.
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They packed all the slices of
bag

)

ina paper

How many slices of cakes are there in all?




